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Cytoskeleton

Flagella

Golgi apparatus

Vacuole

Lysosome

Chloroplast
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Cell size

Multicellularity

Chromosomes

Cell division and genetic recombination

Internal compartmentalization
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Which of the following organelles has bilayer of phospholipid membranes, ATP-conversion enzymes, and
ribosomes similar to those found in bacteria?

(A) Peroxisome (B) Smooth endoplasmic reticulum (C) Lysosome (D) Rough endoplasmic reticulum (E)
Mitochondrion

In vascular plants, DNA is contained in which of the following? 1. Mitochondrion, II. Chloroplast, IiI.
Nucleus

(A) Lonly (B)1llonly (C)Iand HI (D) I and I (E) L, I1, and III

When DNA is isolated from E. coli and assayed the base composition, it is found that 12% of the bases are
adenine. What percentage of the bases are cytosine?
(A) 12% (B) 24% (C)38% (D) 62% (E) 76%
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4) The distribution of transmembrane proteins in the cellular membrane can be visualized by what kind the
following techniques? ‘
(A)Freeze-fracture electron microscopy (B) Native-gel electrophoresis (C) Thin-section electron
microscopy (D) Scanning electron microscopy (E) TTC staining

5) All of the following cellular activities involve in actin filaments except
(A) amoeboid movement (B) flagellar movement in bacteria (C) contraction in smooth muscle (D)
cytokinesis (E) cytoplasmic streaming

6) In prokaryotic cell system, induction of the /ac operon occurs when allolactose binds to
(A) the open reading frame (B) the enhancer (C) the repressor (D) the promoter (E) the operator

7) Which of the following statements about the short sequences of repetitive human DNA is correct
(A) Repetitive DNA is responsible for the production of key proteins involved in respiration
(B) Highly repeated sequences rapid reassociate in DNA hybridization studies
(C) Most of the repetitive DNA is transcribed into transfer RNA
(D) Most repeated sequences have effects on phenotypes
(E) Much of the repetitive DNA codes for the proteins about apoptosis

8) Mitochondria and chloroplast carry out oxidative phosphorylation and photophosphorylation, respectively,
by means of
(A) conformational coupling
(B) chemiosmotic coupling
(C) photorespiration
(D) catalytic reaction
(E) replication

9) Blood fibrinogen is converted into fibrin during
(A) carbon dioxide/oxygen exchange
(B) glucose regulation
(C) clot formation
(D) a fever condition
(E) an immune response

10) What kind of vitamin plays an important role in formation of collagen and the prevention of scurvy
(A) thiamin (B) pyridoxine (C) nicotinic acid (D) ascorbic acid (E) tocopherol

11) As regard human height, the production of short individuals by two normal-sized parents is best explained
by
(A) point mutation (B) sexual reproduction (C) inheritance linkage (D) epistasis (E) polygenic inheritance

12) Which of the following genotypes would produce the greatest combination of gametes if the alleles assorted
independently N
(A) aabbcedd
(B) aaBBCCDD
(C) AAbbCceDd
(D) AaBBCcDd
(E) AAbbeeDd



